Adjustable Angle Back

Seat Frame Shown
For Reference Only



Adjustable Angle Back

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly
1-22 440589 Adustable Angle Kit -- 1
1 1027143-NLA | NLA - Plate, Back Mounting, Left -- 1
1027142 Plate, Back Mounting, Right -- 1
2 1025335-NLA | NLA - Bracket, Latch, Black - Left -- 1
1025334-NLA | NLA - Bracket, Latch, Black - Right -- 1
3 1025337-NLA | NLA - Latch - 2
4 440165 Tube, Extension - 2
5 1002102-NLA | NLA - Washer, Wave (3/16 x 7/16 x 1/16") - 2
6 1029437-NLA | NLA - Cord (5-1/2") - 1
7 1029412 Lock, Cord, Black - 1
8 1048817-NLA | NLA - Ring, "D" - 2
9 40157x019 Coved Spacer -- 4
10 1001762 Screw, Socket Button Head (1/4-20 x 1-3/4") -- 2
11 360114 Screw, Shoulder Hex Socket (5/16 x 1-1/4") -- 2
12 1008495 Screw, Socket Button Head (1/4-20 x 1-1/2") -- 6
13 1021343 Screw, Socket Head (5/16-18 x 1-1/4") -- 2
14 1025195 Locknut (1/4-20) -- 8
15 1026031-NLA | NLA - Nut, Hex with Nylon Cap (#10-32) -- 2
16 1026034-NLA | NLA - Washer, Nylon (3/16 x 7/16 x 1/8") - 2
18 1026060-NLA | NLA - Washer, Flat (9/32 x 1 x 5/64) - 4
19 1025736 Locknut (1/4-20) -- 6
20 1020363-NLA | NLA - Spacer (1/4 x 1/2 x 1/2") -- 2
21 1025326-NLA | NLA - Spring, Torsion - Left -- 1
1025325-NLA | NLA - Spring, Torsion - Right -- 1
22 B445 Plug -- 2
A 1027095 Plug Button, Black (7/8") -- --

NOTE: A - Not shown.




